wrglfl aflerrssrst / MODEL QUESTION PAPER - 2019 - 20
GusvBlensy @rermid gy er® / Xl STANDARD
senT& L uglailisy /| ACCOUNTANCY
SN wHmid idle eufl / TAMIL & ENGLISH VERSION

Gmrid: 15 Blfl_riser + 2.30 wewf]

Qorgs Epgﬁﬂ@usu‘arassiﬂ 90
Time allowed: 15min + 2.30 hours

Maximum marks: 90

Pleyewrser. (1) gyewarss aflarrésend sflwres ugloursl o _srergm sTSTUSMQT Fifl LITT G165
Csmerereyid. sydaliLgaflsd Gopullpliler semné searenliumerfLib
e _Learqursd Ogilaldseay.
(2) Bovid gjsvevg &Ly ewwullener o GG TSI USH D & LD
9&5Camiy Baugsn @b LweTURSs5 CauasTBIb. Lit_tissir umraIsm@ GlusTdlsy
LWeTLIHG S 6 LD.

Instructions: (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the hall supervisor immediately.

(2) Use Blue or Black ink to write and underline use pencil to draw diagrams.

ugs -1/ Part-1 [20 X 1 =20]
@Ml (i) Syenersg allemrs s ems @b aflen_wefl &g eayub.

(il) Qasr@ésiu L mrerg eflen_seafls Waeyh ghyen_w aflenL_uflener

Cxih0lsBHss &mufl st aflmulleneruyd GFigs stagsayi.

Note: (i) Answer all the questions

(ii) Choose the most suitable answer from the given four aiternatives and write the option
code with the corresponding answer
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1. wegeow Qupr uFCa@ser QBT TLTET &1D&ESMTL. 6ThS aursSwid sflwrearg ojva?
=) @)g1 By Eamasmear udley Qi oplefliued saramwwupbn PeD
<) Qrréasib HMID 6TETiT &6WTE &% EHSH G LL_BID 7HSH6T urrfssliu@Sns
@) sufl gy lasTiflser ghmuds Gl& rereuglevemev
) G5! DPORTSS] UMDSITET JeHLOLILISEGEGD Gl BBSILD

Which one of the following statements is not true in relation to incomplete records?
a) It is an unscientific method of recording transactions
b) Records are maintained only for cash and personal accounts
¢) Tax authorities do not accept

d) It is suitable for all types of organizations

2. o Aevwwrerfler Qarsgsast T 85,000 whoib Qurpiiysar X 20,000 gGlareaflsy
DOUHDLW PSED G Tenas eTeusu6Te?
<) 65,000 =) ¥ 1,06,000 @) ¥ 21,000 =) ¥ 85,000
What is the amount of capital of the proprietor, if his assets are Z 85,000 and liabilities are ¥
20,0007
(a) 65,000 (b) %1,06,000 (c) 21,000 (d) 85,000

3. ereumeusraunpiled etg1 aupeumriis wHmib QEsvaller semTdseled uBwiinGeuglsvensy
) umpw CFiglsrerasr ailbns
<) Qersg allhusner WHTear HLL L
@) Qewevrermds@ aupnisl wHSlub
) HIODEEVET aflhms.
Which of the following should not be recorded in the income and expenditure account?
(a) Sale of old newspapers (b) Loss on sale of asset

(c) Honorarium paid to the secretary (d) Sale proceeds of furniture

4. om wernsHe o_crer 100 o_mitifleriadr ye® shsreurs T 500 Cegibgislstperi
BLLILITsRTIG 6D o tgujsiTer &HsT @eTarepd Qup uLTgg X 200 weirent g QuUDD FhHsT
Z 300 srerflev sueumiis HYID QFevey Saursdled sriL L. Cauamigw sHST CHTms.
<) ¥50,000 <) ¥50,200 @) ¥49,900 =) ¥ 49,800
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There are 100 members in a club each paying ¥ 500 as annual subscription. Subscription
due but not received for the current year is ¥ 200; Subscription received in advance is ¥
300. The amount of subscription to be shown in the income and expenditure account is.

(a) ¥ 50,000 (b) 50,200 (c) 49,900 (d) ¥ 49,800

5. dlereumeussaunilev s1gy sflwphm &) emewr

9)) sTRLI&6T 158 eul_ig -- (PS6V HemTdhdleL LHMI DS ELILIL Geuemr(Hid
9,) PS5V L85 euLig - IPSEV &HeTh eV auTey eneudsiiuL. Gauer®ibd
3)) sLeT Bg euig - WPSH HMTEHED LD eweudbs L Ceuer(BID
) @evrut udliey -- WPSH6V HeMTH SV euTey eneudsisiuL. Cauer@Id

Which of the following is the incorrect pair?

(a) Interest on drawings - Debited to capital account
(b) Interest on capital - Credited to capital account
(c) Interest on loan ~ Debited to capital account
(d) Share of profit - Credited to capital account

6. &l reflaEns@ @ewL G gnil Lrsimeni @UILBSD B)eorsCursg s 651 et tg.

9)) auprisiLBeug) E)evene) 91,) eumidl efHS5L6v eupmiSLILBID
3) TS @G 5% aunisliL@Dd ) TR & 6% euprisiu@Gd
In the absence of an agreement among the partners, interest on capital is
(a) not allowed (b) allowed at bank rate
(c) allowed @ 5% per annum (d) allowed @ 6% per annum

7. Ueraumb sursdwniseflev stg sflwrerg?
9)) BHOLWT @K yveTTaTd QaFrss)
<) pHELWT @@ BLLILE Qerss)

@) O @ sHuHaTE CFTss
) BHGLWAENET TS Wi WTs).
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Which of the following statements is true?
(a) Goodwill is an intangible asset
(b) Goodwill is a current asset
(c) Goodwill is a fictitious asset

(d) Goodwill cannot be acquired

8. srraf eoruib T 50,000 whHmuid srgryest eorub T 30,000 srsvflev 2_wir  somLId
<) ¥ 80,000 <) ¥40,000 @) ¥ 20,000 ) ?:15,000

When the average profit is 50,000 and the normal profit is 30,000, super profit is
(a) ¥ 80,000 (b) ¥ 40,000 (c) 20,000 (d) 15,000

9. uligued 1-g L' qwed 2-2 1 61 @UIL B sflwrer aflewt_eow LG CleTBESILIL BeTer
sflwrer gBuf e i LweTu®SS Csfley GFiwe)d

uguiev 1 L quiev 2
i) ghwurs eflslsnd 1. pHEUwWT
i) ueppw svrub udliey afldlsd 2. udlibg SrrevTLILD
iii) midinfc G serdG 3. ugleypr Glumrmiiy
iV) B HewTd S, 4. go i’ L_meflsefler oergluid

@i Gy Gy (v)
(o) 1 2 3 4
(25) 3
@) 4

3

2
3
() 1

4
2
4

N a~

Match List 1 with List 2 and select the correct answer using the codes given below:

List 1 List 2
(i) Sacrificing ratio 1. Goodwill
(i) Old profit sharing ratio 2. Accumulated profit
(i)  Revaluation Account 3. Unrecorded liability
(iv)  Capital Account 4, Partner's Salary
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Codes:

M @ i)y (i)

(@ 1 2 3 4
(b) 3 2 4 1
(c) 4 3 2 1
(d 3 1 4 2

10. ureor wHDID EisgerT @eTu B L tisser 5:3 erern aflflss S L ihg) aubserT
Sjeuiaer meweui ersirisueny 1/5 erebrp @lewrw kA DG st L_Toflwurs Csiggis
Qs renrLeri Flwrs afl#lsi.
<) 1:3 <) 3:1 @®)) 5:3 ) 3:5
Bala and Keerthana are sharing profits and losses in the ratio of 5:3. They admit Eshwar as
a partner giving him 1/5 share of profits. The sacrificing ratio is.
(a) 1:3 (b) 3:1 (c) 5:3 (d) 3:5

1. Lmafl aflevsedlsir Gurgy QurgdsTiy wrHmiiLbeug
9)) SyWATEH Fn L TeflEafleT 1PSH6D HemTEH DG
<) aflev@d gnt_L_reflulledt pgHeL HewTEEINE@ L (HID
@) OsrL_mid gt L_refllsaflsr (pseL sewTHED G
m) @)eupmier s7giLlleven ey

On retirement of a partner, general reserve is transferred to the
(a) Capital account of all the partners
(b) Capital account of retiring partners only
(c) Capital account of the continuing partners
(d) None of the above

12.A, B wpgib C ereirp gt Lreflger 2:2:1 ereirm alldls58l60 @levru L L_geng udlibs
supgeri B aflevsedlsr Gurg plmisussgdlesr poGuwi 30,000 ster wglnfl_diud g
gL rafl B-&@ m@ CFiieugh@ A wphmin C-er ukisefliiy.
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o) 20,000 wpmid Z10,000
<) ¥8,000 LHmILD 4,000
@) 10,000 whmiid Z20,000
w) 15,000 wi’_ @i 15,000
A, B and C are partners sharing profits in the ratio of 2:9:1. On retirement of B, goodwill of
the firm was valued as ¥ 30,000. The contribution of A and C to compensate B: is
(a) Z 20,000 and % 10,000 .
(b) % 8,000 and ¥ 4,000
(c) 10,000 and ¥ 20,000
(d) 15,000 and Z 15,000

13. apsiTemufleniols UmkiIE eTeTLIS!
(i) Benevwrer afldlsssHl6d UBISTSTID CFISSHISM ST apsrapiflemwenwi’s GUDD UG!G
(i) semeiiflarGurg) LIBIG PSTN A wouGLDIeSH S TewT eirgflepwenws QubD LBIG
o)) () w G FAlwreTs
<) (i) wi G sflurears
@) () wpgid (i) efwrsrs:
w) (i) wpmu (i) seupreTenes
A preference share is one
(i) which carries preferential right with respect to payment of dividend at fixed rate
(i) which carries preferential right with respect to repayment of capital on winding up
(a) Only (i) is correct
(b) Only (ii) is correct
(c) Both (i) and (ii) are correct
(d) Both (i) and (i) are incorrect

14. gyriui Bpioid Lkig germr X 10 wgliiyenw 100 ukigsener Bnid Sempiys CsTes
Z 2 QeaussTssre epiidipiy QFisg!. S|EWeU HMTHSID LIk Gl T T DI T 9 afpid
iQeuafluf @ GsuiL_er. psder srilhe wrhpliu. Ceteigu AETTY S
(=) 2700 (<) T 800 (@) T 900 (=) ¥ 1,000
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Super Ltd. forfeited 100 shares of ¥ 10 each for non-payment of final call of % 2 per share.
All these shares were re-issued at Z 9 per share. The amount will be transferred to capital
reserve account, is

(@) ¥ 700 (b) 2 800 (c) 2 900 (d) ¥ 1,000

15. HAflensv ilsemassr uGiumialsy teraimb sThs &@wall LOCam %ﬁz}r@a;@ésa;rrm
afleuriissnenyb u@GluTiiey OFiagSH G THL|eML_WSTSLD.
<) Qrréas @l L LGluTde] <) Qurg Sjerey HBPlEms
@) 2Uf @ HlsEems ) Quird @ gy liey
Which of the following tools of financial statement analysis is suitable when data relating to
several years are to be analysed?
(a) Cash flow statement (b) Common size statement

(c) Comparative statement (d) Trend analysis

16. 9@ susnllag gl peevrwrar® Qaweayser T 70,000 Greavr_mb gamiged Clraeyssr
T 77,000 95 g Hafs5 Q) GHSS B)ravmrd eannger Gurse afldlsn?
<) 10 % <) 110 % @) 90 % w) 11%
Expenses for a business for the first year were % 70,000. In the second year, it was
increased to ¥ 77,000. The trend percentage in the second year is
(@) 10 % (b) 110 % (c) 90 % (d) 1%

17.yp-9y8 Qurptiyser afl#lshn gjerelHeaus

9)) GBI STV SL_6T G SImedr 9)) BTL &Tev 63T TG Smes
@) BT B Flmesr ) GlFwevglmedr
Debt equity ratio is a measure of
(a) Short term solvency (b) Long term solvency
(c) Profitability (d) Efficiency

18. pviy GQumrgyiiy ¥40,000 Ly Glerss: ¥1,00,000 sré@ @miiy 320,000 erafleb aflenrey
afl&ls b
<) 1:1 <) 9:1 @) 1:2 ) 2:1
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Current liabilities ¥ 40,000; Current assets Z1,00,000 ; Inventory ¥ 20,000 . Quick ratio is
(a) 1:1 (b) 5:1 (c) 1:2 (d) 2:1

19. srallitiugley srarmreusnTid GLed-ufleh srppars LwsTLRSSILG S DS
9) smevenliLgle]
<) QWIS LweTUTL 14 HETs aubidlullsd @QBhS TOSS Clrrésid
@) S Plsens 56T
) QFTEHSIESDOT HL_gIdE uThISwg!
Contra voucher used in Tally for
(a) Master entry (b) Withdrawal of cash from bank for office use

(c) Reports (d) Credit purchase of assets

20. oyeomsevsT HLaIsHE aurhidiueng CLed-ulle) sThS auens FTETDTUISSID LSlw

Geusmr(Hid
9) OUMIBOSET FTeTHT6UETLD <) e flw GHLGU®E &TeTDTaIsHTLD
@) QETeiTIpH6L FTETMT6UERTLD ) ClFQISSHEVS 6T FITeiT DT 6uTLD

In which voucher type credit purchase of furniture is recorded in Tally

(a) Receipt voucher (b) Journal voucher
(c) Purchase voucher (d) Payment voucher
uas) 11/ PART -1l [7X2=14]

GOy o) amaGuenh 7 allarrésens@ el oeflésa)n aflarr star 306E &L mwwrs
ufeaflss GauaT@ib
o) Gariur® sriks aflarrésEns e 50 aurtsmssensd WsTwsd allom gjafléseayd

Note: (i) Answer any seven questions

(ii) Question No. 30 is compulsory.

(i) Answer to theory questions should not exceed 50 words
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21. Aeiraumid efleurmisefedlhba @)eOTLd VeV BL L b ST Bl

afleurid Z
LTI 6T CBTL_ & (1pgH6) 5,00,000
24, 695T19.657 @)MuS] (1P 6L 8,50,000
SjeueuraiT(® ClETERT® ubG (LPDH6V 2,00,000
966U Te¥sTLq 63T 6T(HLIL|SH6IT. 1,50,000

From the following particulars ascertain profit or loss:

Particulars z
Capital at the beginning of the year 5,00,000
Capital at the end of the year 8,50,000
Additional capital introduced during the
2,00,000
year
Drawings during the year 1,50,000

22. Qoo Gpréspm emwiiller waedler sureyseaflsy G BreaTdlanar §Mms
Give four examples for capital receipts of not—for—profit organisation.

23. urepHE 6T 616t gl Lref]l peuQeurm wrg BHalgrn T 20,000 srRSSiS Qs rar i
TR g1 el g Y eTHEE 6% Seminglsas Gausr@w. 2019 yeabui 31 gy prlarr®
pigousnL_ujib yeT(HéE @l sThILs6T 155 eul' 1 SewTdElL 6D
Balamurugan is a partner who withdrew ¥ 20,000 regularly in the middle of every month.
Interest is charged on the drawings at 6% per annum. Calculate interest on drawings for
the year ended 31st December, 20197

24 s 1L_reiTenio Blmisussdglev mhGLwen T wHONGD TCsstd @)reT® GLpBlamassneT
SUejd
State any two circumstances under which goodwill of a partnership firm is valued.

25. 5gpaeTr OHMILD LT 6TTM on L reflger @leooru B kisenar 4:3 ereirn afldlgs sl

uslipg eupsert 31 .3. 2018 gjsirmy Fepfeu steiruoui yBlw oot L reflwrs Caigsgis
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Oamsirertiu’ L i GFisens uilesrGuirg Blpisusshissatlev Glurgismiy T 42,000 srer
asrigug Curg srillener udlibg efliugparer GNLCUL B uglallener &reayb
Sanjana and Bhavya are partners sharing profits and losses in the ratio of 4:3. On
31.3.2018, Sanjeev was admitted as a partner. On the date of admission, the book of the
firm showed a general reserve of ¥ 42,000. Pass the journal entry to distribute the general
reserve.

26. gy 5w allHsb TATDTL eTeITEI?
What is gaining ratio?

27 wGsrrarer suswrwm Blmiow T 10 wliyerer 50,000 ukigsmar T 2 YararwsHsd
Oeueflull_ L g1. Semerds Csrenaswynd eflaseasiuggiar GQupliul L ear. GAILCUL G
uglaflener $Hs.

Manoharan Ltd. issues 50,000 shares of Z 10 each payable fully on application. Pass

journal entries if shares are issued at a premium of ¥ 2 per share.

28. lglBleney o mlsenaasir wreneu?

What are financial statements?

29. GLebl-uflev LweTLRSSID TCSID @B)retr() STSAWD ) DPIEDSEHDET S IS
State any two accounting reports used in Tally.

30. 51 eflflpsems seradlBs; Gurss Bty QurpiiyssT X 2,40,000. Quwrss pL iy
Cersgsser T 4,80,000

Calculate current ratio: Total current liabilities Z 2,40,000; Total current assets ¥ 4,80,000.

uggl U/ PART -1l [7 X3=21]
Gy 9)) 7CGseIb 71 eflerTdsEnsE aflwL oeflssayw allarT stemr 40 & L Tund eflenL
9ofldsHeyLb.
) Cariur® Frihs aflarTésendd 150 aurisamss ens @ Wsrwe aflent
Syefdsab.
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Note: (i) Answer any seven questions in which question No. 40 is compulsory.

(if) Answer to theory questions should not exceed 150 words

3N.Qrier ugley weopsgn whpb YwewupTr UHCuBsERsEGD @ G 9, 60T
Caupiur@assr gCGsenih LTI H [

State any three differences between double entry system and incomplete records.

32.¢m weirpsgleir 2020 wrid 31 guib HrEerT® @iy eueHL b By eTIgHeTET @M

&t Gsafley Lilsir eumid efleurtiser steusurgy Gsmearmn?

afleurrid 1.4.2019 (%) 31.3.2020 (¥)
FhBT 3,000 5,000
Ol Ceuemrig wig)

Wp6iTan L 1q Gup 4,000 6,000
FIhBT

9jsuauresssTig 61 GluHm FhsT T45,000

How the following items will appear in the final accounts of a club for the year ending 31st

March 20207
Particulars 1.4.2019 (%) | 31.3.2020 (%)
Outstanding subscription 3,000 5,000
Subscription received in 4,000 6,000
advance

Subscription received during the year: ¥ 45,000.

33.7afl, AN wHDID Guri HACWTT @ PoieuaTsEeT gnt L reflger. gnl L TeiTanio

guuTeuewTd QVeTEGLTg UaTaumeusraupenm stsusurmy GuophEamsiTaliasr?

(i) rall sreitueui GFlmid o6 aupridujerermic Heur Hed LB sul g gy ewrsE 10%
Gasrmalpmi.

(i) A Georusdemear oo aldlgssHw udibsalss Gauam@ staTmmi. oy aTTe
IISMET HM Fn _L_TellG6T Liys CsreraraflsVens.

(iil) gori Popsuarsdine aupridu sisr T 50,000 gyeaui sLar B L ig o eT(HE G
12% Geustsr@1d steirmy CHErmAmmir.
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Ravi, Sibi, and Kumar are partners in a firm. There is no partnership deed. How will you

deal with the following?

(i) Ravi has contributed maximum capital. He demands interest on capital at 10% per
annum.

(i) Sibi demands the profit to be shared in the capital ratio. But, others do not agree.

(iii) Loan advanced by Kumar to the firm is Z 50,000. He demands interest on loan @ 12%

per annum.

34. g 1”_L_ressrenoulled pH@UwAeT wHlienu Siorefld g srrellssT sTGHEILD peiTHlenss
afleurl.

Explain any three factors determining the value of goodwill in a partnership firm.

35. 9ysiis wpHmid GHeusT G)HouEHLD Fnl L Teldsir. Sjeuit Hhis6T @)eOTULd LHIMILD
piL_tisser 5:3. eraiTp aflflsSIle0 LSlTHS Qe reralestmesti. GHTUTE) eTETUMEDT LSl
gt LmeRwirs Gaidé@d Gursl Sjeuiser LsTelmid (pigo|seT T(HSBHeoT .

(i) sr_ib wdliiener T 40,000 98 2 wiss Cousr@Hib.
(i) @uwpgrd wiy T 14,000 sjenmsevesr wdiiy 12,000 gewpss Caueam@id
(iii) ueypr Qurmuiiy T 6,000 ugley Gl Gouevsr(hid

Ajay and Devan are partners sharing profits and losses in the ratio of 5:3. In the view of
Gopal admission, they decided

(i) To increase the value of building by ¥ 40,000.

(i) To decrease the value of machinery by ¥ 14,000 and furniture by ¥ 12,000

(iii) An unrecorded liability ¥ 6,000 has to be recorded now.

36. ppdlef], sbSwr whmib rrGees eTesTn gl Lmeflaser Siiser @eoru B misener 5:3:3
sterm aflfssle LATHg supsert. 2019 yebur 31 gysirmy BHSles gt LTevsTER OGO
ol B aflewgdAmri. afle@Lb BITer SSTY! SjeuHDL W PS6D senwrd@ £ 1,00,000 aurey
@)Blenus ST g WGl

Hesraimid Kevevsaflsd HUGUL® udlailmers 5®s
() ouEpsE Coauss Caeargw CFTams 2 L aTiqUTS QEassiu’ L gl
(i) ojupsEE Coeaiss Coaeargw ClGTamEmL 2 L GTg TS Qs slinL_alléens
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(iii) oyoums @ Coeiss Gousstigw Ggrengullsy T 50,000 o_1_erquirs &TGFrens) epsid
CFeussLiLi’ L gi.

Nandhini, Sandhiya and Rajesh are partners sharing profits and losses in the ratio of 5:3:3
respectively. Nandhini retires from the firm on 31st December, 2019. On the date of
retirement, her capital account shows a credit balance of ¥ 1,00,000.
Pass journal entries if:

(i) The amount due is paid off immediately.

(ii) The amount due is not paid immediately.

(iii) 50,000 is paid immediately by cheque.

37.Cenhglev euewrwgy slmiod umiGlEsTernsEE T 10 wgliysirer T7 e’ L 20

FTHTIERT Lkl Gdsenen @nititlpliy CFiisgl. FHSLI eTeTLOUT LIt E%E1HdHE%TeT aflessTenTiiLIb
wHMID @gH1&EEL R uswTio 5 QFaSSulBHHSTT Heupmlev 15 LkiGser germs@ I 6 ofsib
QupmsCsTas® T 7 wpapsugid CFayssrin’ L ukigaserTs BH6G 6T6TLIO (B G LM
Qeauafluf® QFunwtiuc L g uki@ eniiilipiy wHmih wry Geueflufi iy Harer GBILGCUL G
USle|SenarT &(hdbs.
Senthil Ltd. forfeited 20 equity shares of ¥ 10 each, ¥ 7 called up, on which Sandeep had
paid application and allotment money of ¥ 5 per share. Of these 15 shares were reissued to
Magesh by receiving ¥ 6 per share paid up as ¥ 7 per share. Pass journal entries for
forfeiture and reissue

38. #r&alpliy rHay STEVLD TETHT6L 6Tedrerr? (@)F) 6Teueurm Henrdhal_LiItBGiSng?
What is inventory conversion period? How is it calculated?

39. senflesflows semrsdlwesv weopulley LweTuTBHisafley TCHeULD cpsTlemeaT allardEs .
Explain any three applications of computerized accounting system.
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40. Jssreuhid L (b 6u(LOTEIT Pl emasemw Blriiys

C\srenasuiler sgallss gt
aflsurid 2019 | 2020 % (e s Baed (+)
(*)yevevz SV
&opey () Gopey ()
Z Z 4 %
allhuewer epsoid 4,00,000| 5,00,000 | = -—-———o- 25
Qubp 6uHeuTt
sl B& @sr 000 | 1,80,000 -20,000 -10
61 (HLDIT 63T 11 &5 61T
suflé @ wpsit @evrud | 2,00,000 | --—--—----- +1,20,000 +60
siflée eumLorer eurl 40,000 | 1,60,000 +1,20,000 | -
U(HENSESGLI LiletTei
2_6iTer @)evrLith
Complete the following comparative statement.
Absolute amount Percentage
Particulars 2019 2020 | of increase (+) or | increase (+) or
decrease (-) decrease (-)
Z 4 4 %
Revenue from 4,00,000 | 5,00,000 | = —mmmmeee—e- 25
operations
Less: Operating | -----—--—- 1,80,000 -20,000 -10
expenses
Profit before tax 2,00,000 | - +1,20,000 +60
Less: Income tax 40,000 | 1,60,000 +1,20,000f -
Profit after tax
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ugd — IV/ PART - IV

DTSl NI S EHSHE L0 afleLwefl&sa|Ld
Answer all the questions.

[7 X 5 = 35}

41. 9)) @ITR6T PEDWTET HEWTEE g@severts NeTuppailevene. HjeuGHemL i

ugGouRseafledphg CupLiL L SH a6 LileTeu®HLTmI

afleuyid 1-1-2019 (%) | 31-12-2019 (%)
swasullpliy Glrrésio 80,000 90,000.
Fr&HSHIIL 1,80,000 1,40,000
&L_GTTenlas 6T 90,000 2,00,000
upue sLafBEESTI 1,30,000 1,95,000
oIS &L 65T 60,000 60,000
Qegussn@flu wrHpEsL () 80,000 45,000
Qury) wHmib @upBSlrid 1,70,000 1,70,000

SjsuauTenTige) Hjeui ClETeT(H UbS Fn (BB PH6V ¥50,000 wpmiid yeui

afwrurrsSeOHHs seTeeLw ClFThS LWeIEETE LTSHESTDID 22,500 e10& 815

QarawLri. GupsarL ssuassflad@mbs GeoTu Bl L oplsemas surflébse).

(pebsvzs1)
<) Usitaugptd efleurhisefled®ha! QurssssL_arreflEsT &S, Qrsss sLafbCHTT

saéE, QupugsHGTw LTHYFELE whyid QFEISSHE W wrHpiFsL{H HeuTsH S

swrfgg sLeT aflDUeneT HYILD S5 QBTeT(IpS6) 56T HL6yLD.

aflsurid

aflsurid

2018, sriarev 1 ojeTmi ULy Z

2019, wriré 31 germy Gauiyssr I

LHUE &L_eTTeflssir 2,40,000 uHUIEY &HL_eTmrerlaser 2,20,000
QupiusHGTw wrHnEEL G 30,000 upLe SLafBESTT 1,50,000
upus sL_afbEHri 1,20,000 | QumieushETw wrHnEL G 8,000
QeassiousnGhw LTOpFFL G 10,000 Qegussiush@ilu LTHDIFELTH 20,000
Up seaiedser Z %
sLerrelsefLBlBhs QU Qrrésn 6,00,00 Qegisgivusp@fu wrhpisfL-6
AETVEEANTET 30,000

QUL SENE WITET ([5G N SSelr EHLlg 25,000

LT hOHT(HS SjoflEs Clrmésid 3,20,000

QumpieugH & lw rHnIFFL_HESETS Qrr&s
Qumbmgl 60,000
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#76& eflsCasriib Qupm serenug 10,000 | QuupisusbHEAw wrhmd £16
WLDISHOIULL_g) 4,000

UTTS &HL_6oT 16,000

a) Rajan does not keep proper books of accounts. Following details are taken from his

records.

Particulars 1.1.2019 ¥ |31.12.2019%
Cash at bank 80,000 90,000
Stock of goods 1,80,000 1,40,000
Debtors 90,000 2,00,000
Sundry creditors 1,30,000 1,95,000
Bank Loan 60,000 60,000
Bills payable 80,000 45,000
Plant and machinery 1,70,000 1,70,000

During the year he introduced further capital of ¥ 50,000 and withdrew 2 2,500 per month
from the business for his personal use. Prepare statement of profit or loss with the above
information.
(OR)
b) From the following details you are required to calculate credit sales and credit purchases by
preparing total debtors account, total creditors account, bills receivable account and bills
payable account.

Particulars Z Particulars i
Balances as on 1st April 2018 Balances as on 31st March 2019
Sundry debtors 2,40,000 Sundry debtors 2,20,000
Bills receivable 30,000 Sundry creditors 1,50,000
Sundry creditors 1,20,000 Bills receivable 8,000
Bills payable 10,000 Bills payable 20,000
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Other information: 3 4

Cash received from debtors 6,00,000 Payments against bill payable 30,000
Discount allowed to customers 25,000 Cash received for bills receivable 60,000
Cash paid to creditors 3,20,000 Bills receivable dishonoured 4,000
Discount allowed by suppliers 10,000 Bad debts 16,000

42. o)) Spsamrapid Qgeirsrd SBlmousiremeui et e CUDIBEVS 6T LHDID O\Fe15 515605 6T
sersaledmbg 2019, wrisg 31 %o BrGearT®  @piqeuamL_uyib AT REG T eumeuris

Lwpyid ClFvailerdsamrsanad swmi OlFinweyip.

OumiB Vs 6T T AL ¥

CsrLds @iy — s Qrrés | 14,000 | souertd 20,000
UL ElUHD s 5,000 | surL_ens 24,000
FHBT 55,000 | uwewtd GlFsveysmseir 2,000
2_ufleb GlsrenL 48, 000 | Sj&a wHmIb 6,000

6T(LpG) O\ (i
BIOYa s SiL_ewrid 7,000 | @358 Bs6r Qeiisg) 50,000
SwpaEsvsT allbhmg 16,000 | eflewsmwm @ 33,000
(1@ wgliiy ¥17,000) 2_LIGTERTRIG 6T Ui hIglwig)

Boy I8) 10,000

& OlFTdasid

1,45,000 1,45,000
(Spvevgi)

%) #Cyp Ger@estiu L seuaallsdllBhs @Blerd afleverwiry @ wermsgler 2018,
sour 31 b r@ermr() Py Year®sGlu QunigossT whHmib AERVEL I

BT EHENH S ST @aru'Ju_lsqtb.

sflsurio 4 sflsurio E 4
weGlrrésb (1.1.2018) | 4,000 | yéabel b Qegysslusg) 2,500
Fouemd Q&rHSss) 3,000 | urgisTly QU L & sur_ens i) 1,000

Qupp g
QY uer o_myiiflesri 10,000 | CsTi aflemeruir_ G\ Guimri’ig 14,000
&L _ewrid GuhHma) 68U T 6Y 5 6iT
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FHsHT CLDDGI 15,000 | O eflewerwm @G Guri s | 10,500
GlFsvayas6ir
uTLensll GluHmg) 2,000 | @p56S B&6ir ummhigluig) 25,000

a) From the following receipts and payments account of Tenkasi Thiruvalluvar Manram,

prepare income and expenditure account for the year ended 31st March, 2019.

Receipts E Payments z

To Balance b/d By Salaries 20,000

Cash in hand 14,000 | By Rent 24,000

To Interest received 5,000 | By Travelling expenses 2,000

To Subscription 55,000 | By Printing and stationery 6,000

To Legacies 48,000 | By Investments made 50,000
By Sports equipment

To Entrance fees 7,000 | purchased 33,000

To Sale of furniture 16,000 | By Balance c/d

(Book value: ¥ ‘

17,000) Cash in hand 10,000

1,45,000 1,45,000

(OR)

b) From the information given below, prepare Receipts and Payments account of Kuruniji
Sports Club for the year ended 31st December, 2018

Payments z Payments Ed

Cash in hand Paid for printing

(1.1.2018) 4,000 | charges 2,500
Lockers rent

Salaries paid 3,000 | received 1,000

Life membership fees

received 10,000 | Tournament receipts 14,000
Tournament

Subscription received 15,000 | expenses 10,500
Investments

Rent received 2,000 | purchased 25,000
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& G & (& &HEN T HeUTHEINIGIT (LPS6V, Blewed (PpHeVTE B)(hd G Cumrgl swrildeeayLb.

43. 5) Ulssreumid saeusvseafledmbg @)rream whmih @)yresfl steirm gnl_LreflEefler S

aflexigiop @reor ¥ | @lymewf] T

2019, meweu] 1 6Ty WPBH6L 1,00,000 80,000
2019, mereuml 1 ysrmy HL LIy HewTd G (6u) 5,000 3,000.
2019, et 1 o BBV WHO QT 10,000 30,000
UBSSI 20,000 13,000
STQLiLsT W) oty 10,000 8,000
2019 @)t :

)@ Georu i 6,300 5,400
ppev 1551 eu’ig
oarglusih 9,000 2,400
sifley 2,700 1,200

(@svev51)

9,)  IPSELLST  HMID 2 eSLUET @) HauHD R Fnl L TETENLD  BmieeTSSler
gl Lmeflser. geuiasst suiser @erupl L misewer 107 ererp aldlsssley uslihg
sumdlesrmerri. 2018, smemeufl 1 ety Souisepeww Yse wepGuw ¥20,000 wHmb
%10,000. on " L_remstemio spliLiTouentLd Li6iTouHoueasroupenmds @IS mg.
(i) wpsev B au g yamBsG 5% jeflsas Cauam@Hib.
(il) oypastiueT wHmIh 2 &LiLT @)HaHeEGw sT@lyser Barear sulty weopGu T 200
whHmid T 300 gy,@tb.
(iii) s> B eui iy wHmd eTRlyssT B euly SPLUSHEG Ty 2 _sTer
smieusrggler Blar @evru T18,000
a1 reflsEpenw 1psed wrmu@h pHev eTesrd GClameawr®h Csemeuwmer GmILGUL B
ugleflenesrs sreyd womnd 2018 eour 31 b Breverw  @evrupl L Liudgliey

SENTH NS WD ST GlFiimeyb.

a) From the following information, prepare capital accounts of partners Raja and Rani,

when their capitals are fixed.
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Particulars Raja Rani
Z Z

Capital on 1st January 2019 1,00,000 80,000
Current account on 1st January 2019

(Cr) 5,000 3,000
Additional capital introduced on 1st

June 2019 10,000 30,000
Drawings during 2018 20,000 13,000
Interest on drawings 500 300
Share of profit for 2018 10,000 8,000
Interest on capital 6,300 5,400
Salary 9,000 2,400
Commission 2,700 1,200

(OR)
b) Alagappan and Ulagappan are partners in a firm sharing profits and losses in the ratio of
10:7. On 1st January 2018, their capitals were ¥ 20,000 and ¥ 10,000 respectively. The
partnership deed specifies the following:
i. Interest on capital is to be allowed at 5% per annum.
i. Interest on drawings charged to Alagappan and Ulagappan are Z 200 and ¥ 300
respectively.
ii. The net profit of the firm before considering interest on capital and interest on
drawings amounted to ¥ 18,000.
Give necessary journal entries and prepare Profit and loss appropriation account for the

year ending 31st December 2018. Assume that the capitals are fluctuating.

44. 5)) 515 4 yer@ser srrafl Gooruggled 3 gy em@issr Q& TeTIpSeD 6TEHTD SjigLiLieniuiled

sl () srTefl @eru epewl LSTUGSS, BHeILwifles wEiflenerd &Heaursslaj.
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9}, 60T (B @evruid ¥ Blewm & 6T
2015 10,000 1
2016 12000 2
2017 16,000 3
2018 18,000 4

(Sve51)

<) deraumid efleuriiseflledphg, o wi @erusdley 5 gam@ssr QETerwse TeTn
Qg liuenL_ullsy BHEILIWAsT Flewud &emTddlLayib.
() vweTu@SSLILL L wpsed T 1,20,000
(i) grgrrent @evru alldlgiv: 20%
(iii) ;g1 Y FTHSEpEasTar Blar @erud wepGuw 2014: ¥30,000; 2015: ¥32,000;
2016: ¥35,000; 2017: ¥37,000 wmhmii> 2018: 40,000
(V) gL refls@pdsmrer o_smpliydluid o ar®s e T 2,800

a) Find out the value of goodwill at three years purchase of weighted average profit of last

four

year ¥
Year Profit (%) Weight
2015 10,000 1
2016 12,000 2
2017 16,000 3
2018 18,000 4

(OR)

b) Calculate the value of goodwill at 5 years purchase of super profit from the following
information:

i. Capital employed: ¥1,20,000

ii. Normal rate of profit: 20%
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iii. Net profit for 5 years: 2014: T 30,000; 2015: ¥ 32,000; 2016: ¥ 35,000; 2017: %
37,000 and 2018: ¥ 40,000

iv. Fair remuneration to the partners ¥ 2,800 per annum.

45. o)) LTeVSIT HYID FEIST 6TeMD Fnt L TaflEHET GO HL L BISDET 3:2 srepud &GS 5]60

L aupseri. ojeuiseafsr 2018 wrid 319y Hreveris @ mLiy BlevevsGmliy

Ulesreupormy.

Qurmiiyseir 4 Ed Q\FIT & 15 % 6T ‘ T
(LPSEV &6WTE (& 61T SefluQuTy) 40,000
uTevai 4,00,000
FBIGT 3,00,000 7,00,000 | sursenid 1,60,000
@eorupLrL 1,20,000 | FT&EIGLIY 4,00,000
% 6T (&
sLaf G 1,20,000 | sLsrreflssir 3,60,000
Osriflevreri 60,000 | suriasl] Qmréasid 40,000
FL® B3]

10,00,000 10,00,000

esreumid efleurrisefler SjglitenLufley CFSgIemT sTeLIaT 1/5 uBglHE
gl Lrefwrss Carsasiul_Lmi.
(i) Bmieusrsgdler ppGuwir 75,000 erer wAHO DUl L g). QeesgienT BHGILwT
STV LIGIFenET Ol T&EHLTSHS Q& reisT(®) ubSTIT
(i) Qesvevggienr T1,50,000 ypsevrss CQaram® aubsTi
(iii) suras eorip ¥2,00,000 sré@ @Gy 23,80,000 sLarreflsst T 3,50,000 srevr
wd il Ouc L g).
(iv) srglirurirgasiu@h Ggrifleoreri r(b P& Barer Carifléams %10,000
(v) udleymr pseS® T 50,000 senrsslsd ClsraT® i L-gi.
(vi) Gairtiflsir Guirg LoIHNTL B Hewrs@ @evrLTs %15,000 smiliquigi.
WPS) ST WHMID CFievsgienruller Gaitifp@Uiiler @ mliy BlevssGpllienLiub
SWri CFuIs.
(opevevz1)
<) wenfl, rior wHmID Berr el gt L reflssir riseflsr @eorupl L sigsener 4:3:3 eTeTm
afldssHleo Lufipg eupgeri. 2019 wrié 31gb prararpi jeuiTsEEHamLW @ muiy

Blenevs@mitiy LleTeumorm
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Qumrmliyser g i QFT g5 %67 i
(RN S LD 80,000
& GOVT 3 (&) 3 61T
Loewsf] 50,000 FT6HSG Gy 20,000
riom 50,000 S| VT & 6VEBT 70,000
Weorm 50,000 1,50,000 | sL_crTaflser 20,000
umLIeY 20,000 | m&06lrTésHw 10,000
L6t OB
Georupl L &G 30,000
HETSH &

2,00,000 2.,00,000

et sfls G506 EnsE oL 16 wewfl srerusui 31-3-2019 oysrmy
g UL rsssrenoulled BH g1 aflevslermi.

() ersfmuifler wdlinilev T 5,000 gemmés Causir(hip.

(i) puwssLer @g156 1,000 2_Baurss Cauamm@id.

(i) s g&e0 16,000 wgluiGupmib GFiiw Geues@Hib.

(iv) wenfls @ Qrguss Couamgw Gnids Osrens @srad Gegiss i ailsens.
R ( serse wHpib eflvsgidsal Ut gL raflseaflsr (pse & 60T B 6N IT S
Swri ClFiis.

a) Baskar and Shankar are partners in a business sharing profits and losses in the ratio of

3:2. The balance sheet of the partners on 31.03.2018 is as follows:

Liabilities z z Assets E4

Capital accounts: Computer 40,000
Baskar 4,00,000 Motor car 1,60,000
Shankar 3,00,000| 7,00,000 | Stock 4,00,000
‘Profit and loss 1,20,000 | Debtors 3,60,000
Creditors 1,20,000 | Bank 40,000
Workmen compensation
fund 60,000

10,00,000 10,00,000
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Sellathurai is admitted for 1/5 share on the following terms:
(i) Goodwill of the firm is valued at ¥ 75,000 and Sellathurai brought cash for his share
of goodwill.
(i) Sellathurai is to bring ¥1,50,000 as his capital.
(iii) Motor car is valued at ¥2,00,000; stock at ¥3,80,000 and debtors at Z3,50,000.
(iv)  Anticipated claim on workmen compensation fund is 10,000
(v) Unrecorded investment of 5,000 has to be brought into account.
(vi)  Revaluation account shows the profit of ¥ 15,000 on the date of‘ admission.
Prepare capital accounts and balance sheet after Sellathurai's admission.
(OR)
b) Mani, Rama and Meena are partners in a firm sharing profits and losses in the ratio of

4:3:3. Their balance sheet as on 31st March, 2019 is as follows:

Liabilities F z Assets z
Capital accounts: Building 80,000
Mani 50,000 Stock 20,000
Rama 50,000 Furniture 70,000
Meena 50,000 1,50,000 | Debtors 20,000
Sundry Creditors 20,000 | Cash in hand 10,000
Profit and loss A/c 30,000

2,00,000 2,00,000

Mani retired from the partnership firm on 31.03.2019 subject to the following adjustments:
(i) Stock to be depreciated by ¥ 5,000

(i) Provision for doubtful debts to be created for Z1,000.

(i)  Buildings to be appreciated by ¥16,000

(iv)  The final amount due to Mani is not paid immediately Prepare revaluation account

and capital account of partners after retirement.

46. ) ewar suenrwm Bl 10 ef s 1,00,000 ukigsamer Qurgiwsseflib Qeusfluil Lgy.
alflasemriiuggler Gurs I3 pasSgsir Gurg T4 Bz Csmaiu@wCurs QFIss L
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Geuesr@d.  1,40,000 UBIGES@h&E  allessTemriimbiser Qumiiud 1 e, @) wd @ 6T eir

dlsrou@ory egi6E0 Osiiseri.

60,000 unig s epssTer aflsmenTiium — YPQUSID 9&5I1HE D CFunutiig g
75,000 ukigsepssTaT allamenTiiun- 40,000 UBIGEST @516EQ Oeiuiiul g (gg
CSTme R&1dEL 1360 Ff Q@)
5,000 LI (&5 (615 3T 63T eflessTevuTi’tLith — R815E® TSHID B)sVensv.
WaTSg CgTdssEnh epWIEY QUL L . PSIGELBHS Csrems Cumaig
suevrufloorer GHIUCUL B ubajseers srey. Cugb o misers afleni_ Cewespenmss
@BILD eflen_uflsr s UGS wrEib.

(Spebav51)
<) aflérod Bmiwbd ks Tty T10 ofgib 10% pevarwsged Qeuaflulll 1_g).
Cgrenswrars eflswemriiusger Gurg T2 2815811961 Curgy T3 (ewesrio o 1" L
@0 gemipliilssr Gurgy T3 whmib @) revsrmid whynd Gmig) enpiflarGurg I3 ereard
OeaissiiuL. Ceuahr(ib.
dleirauBid & mewrigaflsd Liki@gasner 2oiiilpliy Qedughe@ Csmeanurar @mnGul_ G
ugleyEenens sreyid.

() 50 ukigEmmar aeudH ms @b FAEGLTT eTeiTUeuT @)L mib wHmd @)ms)
JDYPOLS ClsTensamw Qogiss saplwsre DfSUBDL_IW LIBIGSST miflpliny
OFunuiul e

(ii) 50 uRiGEemar wausH B G b all&Gearely sreiruaii 9516EL M  CQprens, PH6V

SEPUY Hgid GrerLrd whpid Guid Geplins Asrms Qegiss samlusred
QU@L LbIGEET @It ilpliy Qe il L.

(iii) 50 LAIGEmar wousH H @b LOTSAIGT ST REISEL B OBTens HYID 1pHed
SpLyS CsTans ClFgiss sauBlusTsd g Qwpuiling Ller sjeumenLw

LTI & & 6iT ol Ogyd Qe inuliug et

a) Latha Ltd. offered 1,00,000 shares of 10 each to the public payable ¥3 on application,
%4 on share allotment and the balance when required. Applications for 1,40,000 shares
were received on which the directors allotted as:

Applicants for 60,000 shares - Full
Applicants for 75,000 shares - 40,000 shares (excess money will be utilised for

allotment)
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Applicants for 5,000 shares - Nil

All the money due was received. Pass journal entries upto the receipt of allotment
money.
Also show the working notes, which is part of your answer.

(OR)

b) Vikram Company issued shares of %10 each at 10% premium, payable ¥2 on
application, 3 on allotment (including premium), Z3 on first call and %3 on second and
final call. Journalise the transactions relating to forfeiture of shares for the following
situations:

(i) Sasikumar who holds 50 shares failed to pay the second and final call and his
shares were forfeited.

(ii)Vignesh who holds 50 shares failed to pay the allotment money, first call and second
and final call money and his shares were forfeited.

(i) Madhavan who holds 50 shares failed to pay the allotment money and first call and

his shares were forfeited after the first call.

47. o) wrevifler euenruwim Fmiwsler 2019 wriré 31 wpmid 2020 wriré I1ésrar Curg
Sjerey B Bene Sypléens Swri ClFlweL.

afleurid 31 wmriré 2019 31 wrirF
2 2020 2

LIBIG CPpsUSETID LoHMILD
QuirmytiseiT
LBIGSTTT B
9| UBIG PSV 5,00,000 6,00,000
- STUHD WGSD 4,00,000 3,60,000
BeisTL STe QUITmILIL|&6T
(5 eRTL_ &6V BHL_GIT&H 6T 8,00,000 2,40,000
B Gurmliyssir
&560Té G epevld ClFaIds 3.00.000 -
Gouevarig wien 61 & 6T T
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Quordsin 20,00,000 12,00,000
O\ g 31560 z M

BT STVF ClFT 5 S185 56T

9. Blensvs ClETSg1H 6T 10,00,000 6,00,000
9. BRTL STV (LpSH6S BI&6iT 5,00,000 2,40,000
BLLOYF CFTSHGIS8E6T

o e Crriesdi 3,00,000 1,20,000

TTH&ID ommID blFT&ES5 DG .

A 2,00,000 2.40,000
G gsid 20,00,000 12,00,000

(Sevav51)

<) Urefsr Blmiwggler Lsstoumid euewhls BLeuly &enssefledHbs)

() Gurgs @evru aflflsid

(i) Plar @evru afl#lsid

(iii) Qués sLssalleme allslsd

(V) Qués @levru afldlgid &enréslajib.

@)evrub

efleuyid z

aflhuenet cpsid GluDM e (Heu Tl 20,000
@51 euLTeTid (1pBHeS[H CLPSILD 6u(hHeuTil 200
OCorgs euHeumils 20,200
OClFsvay S 6T
@as.rrsir(y):d_r,sb Q&.uhg,. FIT (5% 6T 17,000
FT&HE (LY wTHDLD

(-) 1000
Blgleri ClFsveser 300
@\ar QFeveyassir (BlFeursd LHMILD 2400
aflhLismer)
Qursg ClFeveayser 18,700
SjeauTessTigev euiflé @ (peTaTT 2 6iremr 1,500
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a) Prepare common-size statement of financial position of Yasmin Ltd as on 31st March
2019 and 31st March 2020.

Particulars 31st March2019 | 31st March 2020
Z g
| EQUITY AND LIABILITIES
1. Shareholders’ fund
a) Share capital 5,00,000 6,00,000 |
b) Reserves and surplus 4,00,000 3,60,000
2. Non-current liabilities
Long-term borrowings 8,00,000 2,40,000
3. Current liabilities
Trade payables 3,00,000 -
Total 20,00,000 12,00,000
Il ASSETS
1. Non-current assets
a) Fixed assets 10,00,000 6,00,000
b) Non - current investments 5,00,000 2,40,000
2. Current assets
Inventories 3,00,000 1,20,000
Cash and cash equivalents 2,00,000 2,40,000
Total 20,00,000 12,00,000
(OR)

b) From the following trading activities of Praveen Ltd. Calculate
0] Gross profit ratio

(i) Net profit ratio

(ify ~ Operating cost ratio

(iv)  Operating profit ratio
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Particulars z
I. Revenue from operations 20,000
H. Other income:
Income from investments 200
lll. Total revenues 20,200
IV. Expenses:
Purchases of stock-in-trade 17,000
Changes in inventories -1,000
Finance costs 300
Other expenses (administration
and selling) 2,400
Total expenses 18,700
V. Profit before tax 1,500
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